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PREC 11 Review for Ch.3 & 4 Quadratics

Algebra Review:
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3. Solve fi m

a. 19-"2(x+3)=1 b. (4x+3)(x-1)=0C2x-12x+1)
_ 27
Ja-ax-b=tI AXT=qax A 3-3 = s 22|
-2+ 5= %
/4

7(': Q 'QL*kq"b"' L: —J\

Linear Equations Review:
4. Use the graph to answer the following:

a. What is the y-intercept?

-nt= |
\A 13 Co D

b. What is the slope of the line? \
R.se -3
¥ wn |
c. What is the equation of the line in the form !
y=mx+b? \

}jz — 3t |

d. What is the x-intercept? Ptuj O ;V\‘l'o 3 .
O= —3x+|{

—l:'l
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5. Determine the equation of a line that satisfies the following conditions. Leave the answer
in the fornfic + By + € = 0.

a. The line has slope — 2 and ay- b. The line passes through the points
intercept of 5. ’ (2, 3) and (-4,9).
RIGEE e Y a3 .
2% (4= -2x45 St P e
B" 3 M 2,2y 42

3:4x+b

Lxt2Y-15=0 3= -tk
3= "a*b

5 = b \L*g—S‘ =0 '
\j:—z{-\—S f

a. 2x—=y+4=0 b. 3x+5y=10

/ |
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6. Sketch a graph of the following:

3=.21%ﬂ
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